'HENRY PARK PRIMARY SCHOOL

2010 SEMESTRAL EXAMINATION 1

PRIMARY 6 SCIENCE

Booklet A

Name: : _ { ) : —‘ |

Class: Primary 6

30 Questions
60 Marks '

Total Time for Booklet A and B: 1 h 45 min

" DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO'SO.

—~

READ AND FOLLOW lﬁSTRUCTIONS CAREFULLY.



' Booklet A (60 marks)

k

For edch qu »stion from 1 to 30, four dption's are given. One of them is the correct answer.
Make your choice (1,2, 3 or 4). Shade the correct oval (1,2, 3or4)onthe Optical Answer
Sheet. R : ,

1.  Jean put the gaiiein JhbeE oF fich m‘t"wbsmlla“rt‘anks with éiiayer@fﬂilgn
sthessuifdee. Only Tankifhad fiydrila in it.

oil.

- | — fish

hydrifla | Sl §
_/

Tank A ' Tank B

After halEan#iot, Jean observed that Somefisty:

j i Tark B ad i
Which, of the-foflowingsexplaiiis her obserativn?

A: There i

o i na food for the fish in Tank B..
B: Thé-oil

he-oil killed the fish in Tank B..
.C: Theie Was hot enotigh oxygen in Tank B. .
.D: Carbon dioxide breathed out by the fish in Tank B was not removed.

{1} B only

(2) C only

(3) A and B only: : :

(4) C and D only { )
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2. The diagram below shows hoW:pitsiatid animalsdspendion &4

Process | !

‘Piaﬁfs

A - Substance X

- Animials

i Substanca ¥

Process
B

. M

thch one of the followmg séts cewetﬂy«represents the abeve ﬁﬁan &sand

» precesses%t&vajyﬁd?
Processes _ Substances
(1) | Photosynthesis | Respiration |  Oxygen . - | Carbon dioxide |
(2) | Photosynthesis.| Respiration . Carbon dioxide. );
(3) | Respiration Photosynthesis'| * - Qxgen’
(4) | Respiration Photosynthesis | Carbod’

3. Which of the following statements about energy: from the Sun istrue?

A: Only plants use energy from the Sun.

‘B: Plants use energy from the Sun to.make food.
‘C: Energy from the Sun can be transferred from one organism to another.

(1) Bonly

(2} A and B only
{3) A and C only
(4) B and C only
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Page 2 of 21




4. The graph below shows the i rsunflowergarden

fiowv T anieTpiton acer;
1;

Number of bees

Y

7 a'm,‘ Atam 3pm 7pm
'.‘f"'F'ir-‘r’lé-:Tof day

The gardenérfwants to spcayﬁth‘
e shnloWeEr oardemwithe sthiepe
What could be the best tlme to spray ¢

-qﬁuﬁ* = ““tﬁ ir’isechmde Whréﬁ Kills-pests in

(1) 7am
(2) 11 am
{3)3pm
(4) 7 pm

5. The diagram below shows how our blood travéls in the body.

Alf parts of
I e pody”

Organ P

Orge;n Q

Which one of. th}e-\fblllgwing represents P, Q and X‘"c‘ci'_rir'ée.irl.;YZ‘?_

(1) | __lung. | heart - | ' blood richer in oxygen

(2) lung. | - heait " blood-richer.in-catbon-dioxide _

(3) heat. | lung. | blood ticher in exygen-

(4) heart | lung blood richer in carbon dioxide
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X: found in celis and contains green pigments
'Y : agreen pigment to absomb light energy '
Z: found mostly undémeath the leaves through whlch gaseous ‘
exchange OCCUI'S( ‘

Which of the following represents X, Y and Z correctly?;

X Yy Lz
(1) i Chloroplast - Chiorophyll . =~ | - Stoma ~
(2} Chlorophyll Chioroplast - sStema
3) | Chloroplast = Chiorophyil ~ Cell wall

“). | Chlorophy | " Ghioroplast | Gellwall

Kyle set up the expenment below to:fit deut,!j@wmuch-hght ass;
thr&ugljii"i"' ifferent: sampies SEpbhtwaten: B ;
Test varigbie
- L
- torch
‘ _ - retort stand
- f :
- be.aker Ry B +§ -
pond water - "_' -
whitebox__'_., = *1 B
]

Which one of the following comectiyridetitifies the testiind dependent
variables: respectuyely7 ‘ o : LR

Testvariable . - Dependent Variable
(1) Type of pond water sample i In Amount of light. passmg through
bedker ¢ " escH Water sample:
{2) | Amount of each water sample in Brightness-of light shining from
beaker e torgh to.wateér. sampie
(3) 1 Depth of each water sample in Amount of I:ght passmg through
- bedkér :
(4) | Amountf fight each type of | pond. ach type
water samp!e exposed fo pond wa er sample .
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o OlganisHssBERETERSET o oiiET BRI

Which of the following statement&66ireetly describe whiatshappens:te-this- s
“eriergy obtained:from:og % : ’

_ A: Some of the energy is converted to heat energy.

B: Some of the energy is used to carry.out life processes. .
C- Some of the energy is trarisferred to another organ'ig%_m that preys.on. -

it. : . . . . :
D: Some of the energy is destroyed when itis biirig ‘eatei’by another
organism. - : T

{1) A and B only
(2) C and D only.
(3) A, B and G only
(4)A,CandD only

9. Lindsay decided to-find: outifearthwenns: do make plants:grow hrealthier.
She prepared tiwo set:ups, Set-up A and Set-up B.

. plant

g‘ass. . -‘Z
container

ear_thworm

gérdéri
soil
Set-up A _ Setup B

At the end of the experiment, Lindsay concluded that earsthwerms do make
-plants grow healthier. : ‘
Which of the following sets of-results did Lindsay‘getto make her
conclusion?

Observati_on after 2 weeks

Set-up A - Set-up B

(1) | Bigger leaves and thicker stems Bigger leaves and thicker stems

(2) | Smaller leaves and thinner stems | Smaller leaves and thinner stems

(3) | Bigger leaves and thicker stems | Smaller leaves and thinner stems

(4) | Smaller leaves and thinner stems | Bigger leaves and thicker stems
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10.  The table below shows the Bilifberokaraanismiing

oo el .

habitat.

Organism Number of organisms
“Snail . . 3
Earthworm 2

| BBy, o

Sparrow 4

Mynah 3

How many populiations of organisms are there in this commg_n_ify.?
(1) 5 ’

(2) 6 '

(3) 7

(4) 30.

11. Which of the following Wili"-Ié&?d?l@%*r’é*éféréase in the:poputation sigs-of an -
- organism-in.ahabitat? '

A: Lack of food .
- . B:High birth rate:
C: Presence of diséases
- *D: Sudden changg:in teniperature

(tYAand Conly
(2) B and D.only

(3)A, Cand D only
(4) A, B and D oiily
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13.
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.C: The community is max
- D: There are as many an

Mr Lee couiitedith st FoudtinHis garden. He then pistieiaspic

charibelow tor sHo

animals with
“riioyg than €
legs (10%
ot ) ! flowering
plants (20%)

animals with
6 legs (28%)

animals with

Ategs (12%) fz’s':/g;'

Which of the foliowing sta:;’g,efgnehté"‘déscrib'e»th';e'- pie-ehart:aboveseatrectly?
A: Thére are 6 organismgiip:the garden.

B: Thete-are at least 6 p¢ ations;of organisms.. |

p of animals and plants only.

Is as plants in this community. =

{1yB-only
(@yAand Donly -
(3) C and D onily
(4) B and D only

Peter wanted to find;out how the tgmpefature of water affects how fast
sugar dissolves i watet, Which of the following is thedleast important
variable to control? “

(1) Amount of water used:,
(2) Amount-of sugarin th container

(3) Type of container us¢ ifor the water

(4) Time taken for the sugdar to dissolve completely
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14. The average temperature of the &5 ry‘fe)r“?: iohths Zﬁg*are shown
in the graph bel@w : . ; .o
average temperature
35 /'\ .
30 — =
25
20
15
10
Jan .Fg_b Mar -

The graphs-below show: the wateﬁcensumptnan*effdf similar Househotds
forthesamaparigdaftine.

(1)

.- Cubic metres

(3)

Cubic metres

25

Water
consumption
of Lee
Household

Jan Feb Mar

Water
consumption
of Tan
Household

fau Feb Mar

(2)
Water
consumptlon
§
g
g
(2]
2
=
&
4) ]
Water-
consumptmn
of Clian -
§ Household:
B
<
=
=
Q

Jan Feb Mar

Water consumption in which household is affected by the change in .
temperature from Jan to Mar in 20097

P6 Sc SAt 2010
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container -—

Glass of water —

belowjigihiie
AWeRer

fan -

Set-up A

Which one of the following shouid he useias a 88hiotsetup?

Y .
=

glass of
0
water |

r

N\

&

glass of
water \

container

container

P6 Sc SA1 2010

.

: contéirjer
e

%

glass of

wate r\

glassof t—container

water N

il
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16.  In the gymnasium, 2 gymnasts, (P and Q) Wefeipra“ H r:quor the Youth
Olympic§ Games Thé dlagram below shows the’fs@%f gt Hanes.

At which position/s will the gymilgsts-possess more: kmettc energy-than
sgravitational potential-enggy?

(1) A only.

(2) A and C only
(3) B and Conly
{4) B and D only

.. Page 10 of 21
PG Sc SAT 2010




17.

popidd:froma: hEIth?(F’a@IhM) e d’e@aﬁl'@rﬁtﬁi}and.
heighi@oiiE) as-shown in. the: diagram
What is the cétiversion of-eriergy from PHifitA to:PoinEC?
m o X I AT PRSP SR
Kinetic _| Heat energy - Gravitational |
energy ’ + Sound ™1 potentialerigigy | -
L energy . SR
(2) Kinetic ]
Gravitational »| energy + o Gravitational
Potential Heat energy otential ener
energy + Sound P gy
energy
@[ |
G?;E:g;al | Kinetic Heat energy + .| Gravitational
_energy energy | Sound energy potential energy
L
“4) G?;:fgl?;}al Kinetic B Sound _,| Elastic potential
energy energy Energy energy
¢ -)

P6 Sc SA1 2010
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18. Kenwas é’ragg}ﬁggaib*@m;a”mﬁ%s%theﬁﬂ%"ér?fé‘éi’d @@aa“ia mipasy shown be[ow
The figdr and the raip-are EHEIETHER 1 ity

Which of the following statements is @@rrecf about theiforcesiacting:on the
sbuktas it is dragged across the ﬂoor and then up the ramp’?

A: Frictional force i mcreases R T
‘B: Gravitational forge increases.

'C: Frictionat Force remains the same.

:D: Gravitational force remains the same.

" (1) A and B only
(2) A and D only
(3)Band Conly
{(4) C and D only
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19. The pictiife Below stiows

“Point X

What forms-ef-eneigy arerinvoived:from the” p’eji‘nﬁtﬁ'@sﬁﬁlIﬁi}éﬁéé@g;_ggd (Point X) it:thespeint

it hiits thiepins?

. A: Gravitational potential energy
'B: Kinetic energy

. C:Heatenergy

" D: Sound energy.

(1) A and B only

(2)A,Cand D only

(3) B, C and-D only
(4)A, B, C.and D.only

Page 13 of 21
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20.

¢ to happen to distance y when a 1o:g
i-'}

Wh!Ch of the follow:ng is &
weight is placed:ondepe

(1) -Distance y will increase

(2) Distante'y will daciSase:

(3) Distance y will become zero

(4) Distance y will remain the same

21. The diagram below shows awelght.being-hung from: a- Sprng:
original:length was:3-emzWhen a 100N: -weight was hungfisi
the lengthvofthe spring was 4 cm.

The table below shows the extsision of the spring whien différent weights
‘were hung fromuit. .

Weight/N | Extension of the spring
100 1em
200 2cm
500 5cm

What is the weightof a. notebook-if the tength of the spr ring is 5 cm when
the notebook is hung on it?

(1) 100N .
(2) 200N
(3) 400N
(4) 500N
Page 14 of 21
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22. The game play
turns to- cKISeRds
i EhE o % As the!
possible efféBtsiofigiceo

A: It can cause the seed to wear off.
B: it can move stationary seeds.
C: It can change the position.of seeds.

(1) C only

(2) A and C only
(3) A and B only
(4)A,Band C

Page 15 of 21
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23.

. Assuming that Loa 4
following are possiBie
‘Load Y are different?

A: Load X has a smaller mass than.Load Y
“B: Load Y has a smaller mass than Load X

C: Load X travelled on a smoother surface than Load ¥ ~
D: Load Y travelled on a smoother surface than Load X

(1) A and C only
(2) A and D only
(3) B and C only
(4yB and D only

24.  Inthe diagram below, twe teams.of.boys are pulling the rope.as.hard-as
they could. However, the rope does net seemto i ﬁé*ftof'é‘itﬁer sidie.

What is the reasen.for the rope not to move to either side?

(1) No force is acting on the rope. ~

(2) Pulling forces are not equal on either side.

(3) Pulling forces on each side are equal but in opposite direction.

(4) Pulling forces on each side are equal but in the same direction. (

Page 16 of 21
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jength of spring

{cm)

25

20 -

15

----Spring X

10 }=—

—— Spiing Y

5

14 mass of weights

0 3 6 9

T ! or

Based on her results, which one of the following coféctly represents her
conglisien?

(1
(2)
(3)
(4)

Spring-which i shorter before
start of expéefiment

Sp‘ﬁ hg- that exﬁen_d more with
the saiig’load.

X:

X:

.t

< x|=<

x| <]
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B, .

(1}

Grévitétiona .l;orce -

(2)

Frictional Ferce

Elastic Spiing force

(3)

Gravitatienial.Force

Elastic Spring Force |

(4) ]

Elastic Spring Force

P8 Sc $A1 2010
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+However, After-a few seconds, the ballgBawillevent

wall stfing : | wall
Q qf \::'i:\' rubber
' : //’ bg.nd |
F//:)\alloon

Which of the following statements explain why tfie ballgon’ Cciji‘frfe‘s toa
*-Stop?

A: There is frictional force between the straw and the string.
B: The mass of the balloon decreased as aif was released.
C: Ali the air in the balloon has been released.

(1) C only

(2) A and B only
(3)A and C only
(4)Band C only

28. Which one of the following comparisons between the mass and weight of

an-object-is correct?
Mass of an Object ~ Weight of an object
(1) Can be measured Cannot be measured
(2) | Does not depend on the matter in “Depends on the matter in it
it
(3) Is not caused by the force of Caused by the force of gravity
: gravity acting on it actingon it
(4) Changes from place to place Does not change from place to
piace

Page 19 of 21
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29 Study the SiteuifidiRgRas below carefully,

N et

Which one of the following citetitshwilliproduce:thesbrightést biuls?

(A
(2)B
(3)C
4D

' Page 20 of 21
P6 Sc SA1 2010




30,

1200
ol

1000 . /\
800 / .
600 :

400

Intensity of Light

4
1

1

)

¥

H

]

r

1

200 f
i

1}

]

5

-

i 2 3 4

Number of balteries

Based on the data in the graph, what can be éoncluded from:this
Ly gelclitanicialids

A The light intensity will continue to increase as the number of batteries
‘added increases. " ) :
B: Light intensity decreases as six or more batteries are added.
. C: Bulbs fuse when too many batteries are added to the circuit.

(1) A only
(2) C only
(3) A and B only

(4yB and C only

End of Booklet A
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HENRY PARK PRIMARY SCHOOL
2010 SEMESTRAL EXAMINATION 1
PRIMARY 6 SCIENCE

Bookiet B

Name: _ { )

40

Class: Primary 6

14'Quesﬁons |
40 Marks

Total Time for Booklet A and B: 1 h 45.min

50 NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO'SO.

READ AND FOLLOW INSTRUCTIQNS CAREFULLY.



Booklet B (40 marks)

Wirite your anisw

&S to questions 3118"44:n the spaces given.

HiakeT

31. Mrs Lim Wantc feiakesssimetisaicieanm. i
~ shown in the diagram below.

lid

flavoured milk
mixture -

icacubes and
" salt mixtuee.
inner stesl

can plastic covering

.8) Explain how the ice-cream maker works to change flavoured miitk mixture ~ (2m)

'to ice-cream.

b) Why is the inner can made of steel and not plastic? (1m)

‘ Page 1 of 14
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32. Sally wanted &isfi ﬁdr@ jiGa ik Zalals st :
photosynthiesissShe set up the foiiowmg i 1o} ' s Hols
dime. Study the two set—ups A and B, below carefuily ot

Belt ;‘arwith\t

stopper

Plant

Chemicat X .
toremove -
. carbon dioxiq‘g NS O

At the end of the experiment, &iiy-atkfadeaf:zeach from Setups Atand:B:to

test: for: nee - of starch. using: iodine solution after decalarising: the
L AOBVeSWIt el
a) Describe the results of the starch test observed for the leaf taken from (1m)
Set up A
b} Give a reason for your answer in (a). ' : (1m)
Page 2 of 14
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°33. The diagram below shows a pond with plants A, B, CandD. -

"l At

a) Which population of plants died completely after a week? {1m)

b)  Explain why the plantin (a) could not survive but the rest of the plants (27

continue to survive.

Page 3of 14
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Population size )
of organism

Temperature (°C)

a)

b)

P8 Sc 5A1 2010

“changes:-n-the: pepulation:size of 3-diffésent ganisms: Py

3 erfhesamepen@deftime

-~

=
l

{

/

AT

"'--..--'""?'--a}‘":'-,.

B
s
A ]
]

Graph 1

uuse

*,

\4

— Time (years)

W o e kb M ]

1
O ——----/(-

259¢|----
23°%C |-
20°C

Graph 2

B g VR DR |

oo -y = -

~—» Time (years)

Using the given information, what kind of living condition isfavourable for  (1m)

Organism Q7

Which organism is least affected 'by'changes in the surrounding - (2m)
temperature? Give a reason for your answer.

What will happen to the population sizé of all 3 organisms if the (1m)

surrounding temperature confinues to rise?

-~
-
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45, Haikal wds Ssked by His teachierto iripais e differenices befween the-

" circulatory system of a human and transport system of a plant.

In Plants

Differences
in

in Human

(i)

: Partst!lat
transport .
foad and Water

Blood vessels in the circulatory
system transport both food and

water

- \Water moves from roots 6
@) other parts

. ‘Diréction of
movement of
water

P6 Sc SA1 2010
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Happy Town.
B

Farm

nent plait which supplies
drmped to the treatiment

People from Happy Town want to build:a:waterfre:
water for homie:uge. The water that is fo be treate

paintinthesivsethat stnearestto it.

a)  Indicate; t_h_ér-mﬁqstjfsuifable'.fposfti‘on to build:the‘treatment plant by puiting
an X in the picture above. .

-b}- »Exfpiain‘-hewthi-s-loeatien-fer»-the-wa-ter treatment plant-ensures clean
water for the people of Happy Town. :

¢)  If the people want t6 depend fess &5 the river for water, suggest one
thing they can do to obtain more fresh watey for daily use.

R

(1m}

(1m)

{1m}

Page 6 of 14
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37. Ali sets up an experiment as shown below . tor find:out:-haws:the
_ : . -« éigg‘é‘lgn“@ﬁtﬁé‘i{ﬂ@%ﬁ TG USEs

o Ramp
RampiZ, o
Angle of inclination : -
Ali's brother told him that this was niot aifair test.
a) Do you agree with Ali's brother? Give a reason for your answer. (2m)
b) State a suitable hypothesis for this exper‘im'ént. S __ (1m)
c) ' Why must experiments be carried out a few timéfs? (1m)

Page 7 of 14
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38. Meili tied::
below. She then e '
elipfivats! just below:theis

Magnot

' Papeitlip X
— block
a)  Explain why paper clip X is able to ‘float’ in the air, - (2m)

.Meili then placed a thin piece of material Y between the magnet and the paper
clip. : . : -

b,

Awt

Non-magnetic
. PaperdipX  aterialy

b} What would happen to the paper clip when Meili movLed the magnet {2mj
slightly as shown above? Give a reason for your answer.

Page 8 0f 14
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itnyis PTadgobaald

uibbeiband tied tedbetivends.of

Folded card

Rubber band
Whenthecardepressgddawﬁ and then rélased; it jufnps® offthe/graund.

Cards not pressed down When cards are pressed down_

Rubber band

Rubber band

a) Explain how the toy-isablesto:jump' when it is let go after being pressed (2m}

down.

b) Suggest one way to make the toy jump’ higher. (1m)

Page 9 of 14
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40. Sean held up BStEStcDIRAERS
spidfe and a.paperclip
thatithe‘paper eliprdidiiv
each:psseplate.

b plastic:

p‘!_astic .piafe-.
placed vertically

paper dip -
on the other
side of plate

~__magheton cne
side of plate -

/

g tablé
ST TS

S ST

He then tabulated his resuits as shown below.

No. of plastic plates | Did the paper clip
stacked together drop?
1 I No
No
L ‘?es %
Yes

(oL RLNEAT I

a) State thie test variable in this experiment.

EE L e e e
plate as shown below. He found

ddiaiplastic plate. For
aper elipdropped off.

b) State how the results would be different if Sean had used a stronger
magnet? Give a reason for your answer,

. Page 10 of 14
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Thekgiapti below shows the & t’stoﬁth’“e’expenn%’ent

puilling force

(units)

Types of surfaces

PartY

e (A&, Cor D) '
Based on the results, suggest the ma@enal which will be most suitable for  (2m)

making Part Y of a slide. Explain your answer.

. 7 Page 11 of 14 ' ;
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42. Mel saw; the f@l!@wnng activity-during:his:visi
activity, the player needs to hitthe metaly
whach is placed on top of the pole.

bell-

plastic
- casing R

a) -Mel knew that he needed to httt (2m}
make the ball hit the bell: - -
Explain how his action.wouldéau

b) Mel tried to adjust the position of the be laeing it higher up on the (1m)

pole. He then found out that no matie ard he hit the plate, the ball
~would never reach up to the bell. Why.isdhat so?

o - Page 12 of 14 _
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43 The plctures be!ow sho, what a; \_/ercraft looks; ﬁk NS, the surfdees are

Air cushion in
between the two
surfaces .

o AirBlower

f X :
j 13 I

= q_‘-"‘:n_.«F"'k_.,..-""_‘\-_Jl‘ A"- Cushlon Wh_
\ Top surface of
. another object
Describe how the air cushion in between the surfaces helps the (2m)

hovercraft to travel over rough land, swamp or sea.

Page 13 of 14
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44. Lisa conducted an expenment using the followiri teﬁ?i“éri@i}my.

iron rod

battery

wire

paper ¢lip

Lisa then changed vanab!e X in the sét up above and’ counted the number of

paper clips attracted by the iron rod. She kept the other vanables constant.
Her results are shown below.

number of
paper clips 4

.

—
variable X

a) Wbat is variab{e X inthe above setup ? ' L . (tmi}

b} Expialn why the riumker of number of paper chps lncreased when (tm)

. variable X inecreased.:

'End of Booklef B

Setters: Mdm Zuraidah & Mrs Cecilia Ng
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EXAM PAPER 2010

. SCHOOL : HENRY PARK PRIMARY
SUBJECT : PRIMARY 6 SCIENCE

TERM : SAl

Ql [ Q2 |03 | Q405 Q6 [ Q7 | Q8 | Q9 |Q10/0Q11,0Q12|0131Q14 015|016 | Q17

4 4 4 4 4 1 1 3 3 2 3 1 3 3 3 3 2

Q18| Q19 | Q20 Q21 | Q22 | Q23| Q24 { Q25 | Q26 | Q27 | Q28 | Q29 | Q30

4 1 4 2121443 2 [ 3 3 [ 33 2

31)a)The milk has a higher temperature than the ice, and so the milk loses

heat to the ice.
b)Steal is a better conductor of heat than plastic,

32)a)Iodine drops on leaf from plant A did not dark blue.
b)Plants need carbon dioxide to photosynthesis, so when there is no
carbon dioxide, the plant can’t carry out life processes even if there is light.

33)a)Population D.
b)D is blocked by floating plants and does not receive enough sunlight to

photosynthesise.

34)a)217cC. :

b)P as changes in its population size due to changes in surrounding
temperature is the least. '

c)The population size of all 3 organisms would decrease.

35)i)Xylem tubes transport water and phloem tubes transport food.
ii)Water moves from the mouth to other parts of the body.
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36)b)The water treatment plant is needed to remove pollutants from factories
and farm.

c)Wait for rain to come and collect it buckets so that you can wash your
car or water plants with it.

37)a)Yes, the angle of inclination should be changes but the size of the ball
should be kept the same.

b)The ramp which the angle of inclination is the most would make the ball
go further.

c)To make sure the result are reliable.

38)a)The paper clip is made out of metal and it is attracted to the magnet.
b)The paper clip would also move together with the magnet as Material Y
is a non-magnetic material and magnetic force is able to pass through it.

39)a)The elastic potential energy.
b)Place more rubber bands.

40)a)The distance between the magnet and the paper clip.

b)When the paper clip drops, the number of plastic plates stacked will be
greater than before. The magnetic force is stronger so it can act at a greater
distance.

41)D. Pulling force on surface D is lowest as frictional force is the lowest.

42)a)As he hits the metal plate, Elastic potential energy is stored in spring
which converts to kinetic energy. As he hits the plate hard, the spring
becomes compressed, the elastic spring force than the ball to move upwards
towards the ball. .

b)The spring has reached its maximum limit and there is not enough
elastic potential energy to push the ball upwards.

43)The air cushion causes the hovercraft not to come into contact with the
other surfaces, hence the frictional is greatly reduced.

44)a)No. of coils.

b)The electromagnet strength increased with the increased no. of turns
around the iron rod.
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